Existence and multiplicity of solutions for singular fractional elliptic system via the Nehari manifold approach

Kamel Akrout¹², Nor Elhouda Soltani³ and Sounia Zediri⁴

Abstract. In this paper, we study the existence and multiplicity of positive nontrivial solutions of the following singular fractional elliptic system

$$\begin{cases} (-\Delta)_p^s u = a(x)u^{-\gamma} + \lambda f(x, u, v) \text{ in } \Omega, \\ (-\Delta)_p^s v = b(x)v^{-\gamma} + \lambda g(x, u, v) \text{ in } \Omega, \\ u = v = 0 \text{ on } \mathbb{R}^N \backslash \Omega, \end{cases}$$

where Ω is a smooth bounded domain in \mathbb{R}^N , N > ps with $s \in (0, 1)$, λ is a positive parameter and $0 < \gamma < 1 < p < r < p_s^* - 1, p_s^* = \frac{Np}{N-ps}$. $a, b \in L^{\infty}(\Omega, \mathbb{R}^+_*), f, g \in C(\Omega \times \mathbb{R} \times \mathbb{R}, \mathbb{R}^+)$ are positively homogeneous functions of degree (r-1). The results are obtained by using the fibering method, Nehari Manifold technique and applying Ekeland's variational principle.

AMS Mathematics Subject Classification (2010): 35J35; 35J50; 35J60

 $Key\ words\ and\ phrases:$ Fractional operator; Nehari Manifold; Ekeland's principle

1. Introduction

The paper focuses on the variational case to prove the existence and multiplicity of nontrivial positive solutions. We consider the following singular fractional elliptic system

$$(P_{\lambda}) \qquad \begin{cases} (-\Delta)_{p}^{s} u = a(x)u^{-\gamma} + \lambda f(x, u, v) \text{ in } \Omega, \\ (-\Delta)_{p}^{s} v = b(x)v^{-\gamma} + \lambda g(x, u, v) \text{ in } \Omega, \\ u = v = 0 \text{ on } \mathbb{R}^{N} \backslash \Omega, \end{cases}$$

¹LAMIS Laboratory, Larbi Tebessi University, Tebessa, Algeria, e-mail: kamel.akrout@univ-tebessa.dz

²Corresponding author

³LANOS Laboratory, Badji Mokhtar University, Annaba, Algeria, e-mail: Soltaninorelhouda2014@gmail.com

⁴LAMIS Laboratory, Larbi Tebessi University, Tebessa, Algeria, e-mail: sounia.zediri@univ-tebessa.dz

where Ω is a smooth bounded domain in \mathbb{R}^N , N > ps with $s \in (0,1)$, λ is a positive parameter, $0 < \gamma < 1 < p < r < p_s^* - 1$, and $p_s^* = \frac{Np}{N-ps}$ is the fractional critical Sobolev exponent. $a, b \in L^{\infty}(\Omega, \mathbb{R}^+_*), f, g \in C(\Omega \times \mathbb{R} \times \mathbb{R}, \mathbb{R}^+)$ are positively homogeneous functions of degree (r-1) such that

$$(1.1) \qquad \left\{ \begin{array}{l} f(x,tu,tv) = t^{r-1}f(x,u,v), (x,u,v) \in \Omega \times \mathbb{R} \times \mathbb{R}, t > 0, \\ g(x,tu,tv) = t^{r-1}g(x,u,v), (x,u,v) \in \Omega \times \mathbb{R} \times \mathbb{R}, t > 0. \end{array} \right.$$

Let $(-\Delta)_p^s$ be the fractional *p*-Laplacian operator defined on smooth functions by

$$(-\Delta)_p^s u = 2\lim_{\varepsilon \to 0} \int_{\mathbb{R}^N \setminus B_\varepsilon(x)} \frac{|u(x) - u(y)|^{p-2} (u(x) - u(y))}{|x - y|^{N+ps}} dy, x \in \mathbb{R}^N,$$

Our aim in the present work is to study the existence and multiplicity of nontrivial positive solutions by combining the variational method with Nehari Manifold, fibering maps and Ekeland's variational principle, see [2], [4], [3], [9], [10].

Precisely, we assume there exists a function $H: \overline{\Omega} \times \mathbb{R} \times \mathbb{R} \to \mathbb{R}$ satisfying

$$H_{u}(u,v) = f(u,v)$$
 and $H_{v}(u,v) = g(u,v)$.

From (1.1), we can easily deduce that H is homogeneous of degree r which satisfies the following assumptions

$$H(x, tu, tv) = t^{r}H(x, u, v), t > 0,$$

$$rH(x, u, v) = uf(x, u, v) + vg(x, u, v) \text{ (Euler identity)},$$

$$(1.2) \qquad |H(x, u, v)| \leq K(|u|^{r} + |v|^{r}), \text{ for some constant } K > 0.$$

(1.3)
$$H^{\pm}(x, u, v) = \max(\pm H(x, u, v), 0) \neq 0 \text{ for all } (u, v) \neq (0, 0).$$

Then, we have the following result of existence.

Theorem 1.1. Suppose that $0 < \gamma < 1 < p < r < p_s^* - 1$ and the assumptions (1.1)-(1.3) hold. Then, there exists $\Gamma > 0$ such that, for all $\lambda \in (0, \Gamma)$, the system (P_{λ}) has at least two positive nontrivial solutions.

There is a growing interest in the equations of this type, since they arise in many fields of sciences, physical phenomena, probability, stochastic calculus, and finance. For more details, one can see [5], [6], [14], [19].

This method has been applied to partial differential equations, nonlinear, semilinear and quasilinear systems, involving Laplacian and fractional p-Laplacian. Among that the many studies have been published, we refer the reader to see [8], [15], [17], [27], [18], [1]. At this point, we briefly recall literature concerning related singular problems and systems. In [20], by K. Saoudi & A. Ghanmi, they studied the following singular problem

$$\begin{cases} (-\Delta)_p^s u = \frac{a(x)}{u^{\gamma}} + \lambda f(x, u) \text{ in } \Omega, \\ u = 0 \text{ on } \mathbb{R}^N \backslash \Omega, \end{cases}$$

where $\Omega \subset \mathbb{R}^N, N \geq 2$, is a bounded smooth domain, $a \in L^{\infty}(\Omega)$, λ is a positive parameter, $p \geq 2$ such that $N \geq ps$ and $0 < \gamma < 1 < p < r < p_s^*$ where $p_s^* = \frac{Np}{N-ps}$ and r is the homogeneity degree of the function f. Under appropriate assumptions on the function f, the authors have used the method of Nehari manifold combined with the fibering maps and they shown the existence of $T_{p,r,\gamma}$ such that for all $\lambda \in (0, T_{p,r,\gamma})$, the problem has at least two positive solutions.

Moreover in [2] Adimurthi and Giacomoni proved the multiplicity of positive solutions for a singular and critical elliptic problem in \mathbb{R}^2 , and in [22], [13] Mohammed, Coclit and Palmieri established the existence of positive solutions of *p*-Laplace equation with singular nonlinearity. Then, in [11], Caffarelli and Silvestre studied the fractional Laplacian through extension theory. In [12] Chen, Hajaiej and Wang, studied the existence, non-existence and uniqueness of positive weak solutions of the semilinear fractional equation.

Some other results dealing with the existence of solutions concerning the singular problem have been achived by Ghanmi, Saoudi and Kratou (see [21], [23], [24]). They studied the existence and multiplicity of solutions of the semi-linear singular elliptic equations involving the fractional Laplace and fractional p-Laplacian operator using Nehari manifold, the fibering method and applying Ekeland's variational principle with boundary conditions. See, for instance, [9], [2],[25], [26] and the references therein.

The outline of this paper is as follows. In the second section, we present some basic notations and preliminaries. In the third section, we apply the decomposition of Nehari Manifold, define energy functional associated with system (P_{λ}) , prove that it is bounded below, coercive in \mathcal{N}_{λ} and analyze the fibering method. In the last section, using Ekland's variational principle, we prove the existence and multiplicity of nontrivial positive solutions.

2. Notations and preliminaries

First, we introduce the following spaces. For $s \in (0, 1)$, we define the fractional Sobolev space see [16].

$$W^{s,p}(\Omega) = \left\{ u \in L^p(\Omega) : \frac{u(x) - u(y)}{|x - y|^{\frac{N + ps}{p}}} \in L^p(\Omega) \right\},$$

with the norm

$$\|u\|_{W^{s,p}(\Omega)} = \|u\|_{L^{p}(\Omega)} + \left(\int_{\Omega \times \Omega} \frac{|u(x) - u(y)|^{p}}{|x - y|^{N + ps}} dx dy\right)^{\frac{1}{p}}$$

Consider the space

$$X = \left\{ u : \mathbb{R}^N \to \mathbb{R}, u \in L^p(\Omega) \text{ and } \frac{u(x) - u(y)}{|x - y|^{\frac{N + ps}{p}}} \in L^p(\Sigma) \right\},\$$

with the norm

$$||u||_X = ||u||_{L^p(\Omega)} + \left(\int_{\Sigma} \frac{|u(x) - u(y)|^p}{|x - y|^{N+ps}}\right)^{\frac{1}{p}},$$

where $\Sigma = \mathbb{R}^{2N} \setminus ((\mathbb{R}^N \setminus \Omega) \times (\mathbb{R}^N \setminus \Omega)).$

Let X_0 denote the usual space defined as follow

$$X_0 = \left\{ u \in X : u = 0 \text{ a.e. in } \mathbb{R}^N \backslash \Omega \right\},\$$

with the norm

$$\|u\|_{X_0} = (T(u,u))^{\frac{1}{p}} = \left(\int_{\Sigma} \frac{|u(x) - u(y)|^p}{|x - y|^{N + ps}} dx dy\right)^{\frac{1}{p}},$$

where

$$T(u,z) = \int_{\Sigma} \frac{|u(x) - u(y)|^{p-2} (u(x) - u(y))(z(x) - z(y))}{|x - y|^{N+ps}} dx dy.$$

Setting $E = X_0 \times X_0$ a reflexive Banach space, with the norm

$$\|(u,v)\|_{E} = \left(\|u\|_{X_{0}}^{p} + \|v\|_{X_{0}}^{p}\right)^{\frac{1}{p}} = (T(u,u) + T(v,v))^{\frac{1}{p}},$$

where $\mu_{s,p}$ is the best Sobolev constant of the embedding from E into $L^{p_s^*}(\Omega)$ given by

(2.1)
$$\mu_{s,p} = \inf_{u \in X_0} \left(\frac{\|u\|_{X_0}}{\|u\|_{L^{p_s^*}}} \right)^p.$$

Then, we give the definition of a weak solution of problem (P_{λ}) .

Definition 2.1. We say that $(u, v) \in E$ is a weak solution of system (P_{λ}) if for every $(z, w) \in E$, we have

(2.2)
$$T(u,z) + T(v,w) = \int_{\Omega} \left(a(x)u^{-\gamma}zdx + b(x)v^{-\gamma}w \right) dx + \lambda \int_{\Omega} \left(zf(x,u,v) + wg(x,u,v) \right) dx.$$

3. Nehari Manifold and Fibering maps

The energy functional $J_{\lambda}:E\to\mathbb{R}$ associated to the problem (P_{λ}) is given by

$$J_{\lambda}(u,v) = \frac{1}{p} \|(u,v)\|_{E}^{p} - \frac{1}{1-\gamma} \int_{\Omega} (a(x)u^{1-\gamma} + b(x)v^{1-\gamma})dx - \lambda \int_{\Omega} H(x,u,v)dx.$$

note that the critical points of J are weak solutions of (P_{λ}) .

Let Γ be a constant defined by

(3.1)

$$\Gamma = \frac{\left|\Omega\right|^{\frac{(r+\gamma-1)(p-p_s^*)}{p_s^*(p+\gamma-1)}}}{rK} \left(\frac{p+\gamma-1}{r+\gamma-1}\right) \left[\frac{(r+\gamma-1)\max(\left\|a\right\|_{\infty}, \left\|b\right\|_{\infty})}{(r-p)\mu_{s,p}^{\frac{1-\gamma}{p}}}\right]^{\frac{p-r}{p-1+\gamma}}$$

For our convenience, we put

$$\begin{split} Q &= Q \left(u, v \right) = \| (u, v) \|_{E}^{p} = T(u, u) + T(v, v), \\ R &= R \left(u, v \right) = \int_{\Omega} (a(x)u^{1-\gamma} + b(x)v^{1-\gamma})dx, \\ S &= S \left(u, v \right) = \int_{\Omega} H(x, u, v)dx, \end{split}$$

$$Q_0 = Q(u_0, v_0), R_0 = R(u_0, v_0), S_0 = S(u_0, v_0), (u_0, v_0) \in \mathcal{N}_{\lambda}$$

and for all sequence $\{(u_n, v_n)\} \in E$, we set

$$Q_n = Q(u_n, v_n), R_n = R(u_n, v_n), S_n = S(u_n, v_n),$$

Therefore, we can write J_{λ} as follows

$$J_{\lambda}(u,v) = \frac{1}{p}Q - \frac{1}{1-\gamma}R - \lambda S.$$

Thus, $J_{\lambda} \in C^{1}(E, \mathbb{R}), J_{\lambda}^{'}: E \to E^{'}$ for every $(u, v) \in E$ and we have

$$\left\langle J_{\lambda}^{'}(u,v),(u,v)\right\rangle = Q - R - \lambda r S.$$

To find the critical points of J_λ , we will minimize the energy functional J_λ on the constraint of Nehari manifold

$$\mathcal{N}_{\lambda} = \left\{ (u, v) \in E \setminus \{(0, 0)\} : \left\langle J_{\lambda}'(u, v), (u, v) \right\rangle = 0 \right\}.$$

Then, $(u, v) \in \mathcal{N}_{\lambda}$ if and only if

(3.2)
$$Q - R - \lambda r S = 0 \text{ for all } (u, v) \in E \setminus (0, 0).$$

We define $\phi_{u,v}(t) : \mathbb{R}^+ \to \mathbb{R}$ as follows

$$\phi_{u,v}(t) = J_{\lambda}(tu, tv) = \frac{1}{p}Qt^p - \frac{1}{1-\gamma}Rt^{1-\gamma} - \lambda St^r.$$

Then, the first and the second derivative of the map $\phi_{u,v}(t)$ is given by

$$\phi'_{u,v}(t) = Qt^{p-1} - Rt^{-\gamma} - \lambda rSt^{r-1},$$

and

$$\phi_{u,v}''(t) = (p-1)Qt^{p-2} + \gamma Rt^{-\gamma-1} - \lambda r(r-1)St^{r-2}.$$

So, it is easy to see that

$$(tu, tv) \in \mathcal{N}_{\lambda}$$
 if and only if $\phi'_{u,v}(t) = 0$,

and

$$(u, v) \in \mathcal{N}_{\lambda}$$
 if and only if $\phi'_{u,v}(1) = 0$

Hence, for $(u, v) \in \mathcal{N}_{\lambda}$, we obtain

$$\begin{split} \phi_{u,v}''(1) &= (p-1)Q + \gamma R - \lambda r(r-1)S \\ &= (r+\gamma-1)R - (r-p)Q \\ &= (p+\gamma-1)Q - \lambda r(r+\gamma-1)S \\ &= (p+\gamma-1)R - \lambda r(r-p)S. \end{split}$$

Now, we decompose \mathcal{N}_{λ} into three parts $\mathcal{N}_{\lambda}^+, \mathcal{N}_{\lambda}^-, \mathcal{N}_{\lambda}^0$ corresponding, respectively, to local minima, local maxima and points of inflection of $\phi_{u,v}$ defined as follows

$$\begin{split} \mathcal{N}_{\lambda}^{0} &= \left\{ (u,v) \in \mathcal{N}_{\lambda}, \phi_{u,v}''(1) = 0 \right\}, \\ \mathcal{N}_{\lambda}^{+} &= \left\{ (u,v) \in \mathcal{N}_{\lambda}, \phi_{u,v}''(1) > 0 \right\}, \\ \mathcal{N}_{\lambda}^{-} &= \left\{ (u,v) \in \mathcal{N}_{\lambda}, \phi_{u,v}''(1) < 0 \right\}. \end{split}$$

Furthermore, if $(u, v) \in \mathcal{N}_{\lambda}^+$, we have

$$(3.3) R > \frac{r-p}{r+\gamma-1}Q > 0.$$

Now, we prove the following useful lemmas.

Lemma 3.1. Suppose that (u_0, v_0) is a local minimizer of J_{λ} on \mathcal{N}_{λ} and $(u_0, v_0) \notin \mathcal{N}_{\lambda}^0$. Then (u_0, v_0) is a critical point of J_{λ} .

 $\mathit{Proof.}\,$ According to Theorem of Lagrange multiplier, there exist a real constant η such that

$$J'_{\lambda}(u_0, v_0) = \eta \xi'(u_0, v_0),$$

$$(u_0, v_0) \in \mathcal{N}_{\lambda} : \langle J'_{\lambda}(u_0, v_0), (u_0, v_0) \rangle = \eta \, \langle \xi'(u_0, v_0), (u_0, v_0) \rangle = 0,$$

where the constraint is

$$\xi(u, v) = Q - R - \lambda r S.$$

For all $(u, v) \in \mathcal{N}_{\lambda}$ and $(u_0, v_0) \notin \mathcal{N}_{\lambda}^0$, we have

$$\begin{aligned} \langle \xi'(u,v),(u,v) \rangle &= pQ - (1-\gamma)R - \lambda r^2 S \\ &= (p-1)Q + \gamma R - \lambda r(r-1)S \\ &= \phi_{u,v}''(1) \neq 0, \end{aligned}$$

which implies that $\eta = 0$, and $J'_{\lambda}(u_0, v_0) = 0$.

Lemma 3.2. J_{λ} is coercive and bounded from below on \mathcal{N}_{λ} .

Proof. Let $(u, v) \in \mathcal{N}_{\lambda}$. From (2.1) and by Hölder's inequality, we can write

(3.4)
$$R \leq \mu_{s,p}^{\frac{\gamma-1}{p}} |\Omega|^{\frac{p_s^*+\gamma-1}{p_s^*}} \max(\|a\|_{\infty}, \|b\|_{\infty}) \|(u,v)\|_E^{1-\gamma} = \mu_{s,p}^{\frac{\gamma-1}{p}} |\Omega|^{\frac{p_s^*+\gamma-1}{p_s^*}} \max(\|a\|_{\infty}, \|b\|_{\infty}) Q^{\frac{1-\gamma}{p}},$$

and

$$(3.5) \qquad S \leq K \int_{\Omega} \left(|u|^{r} + |v|^{r} \right) dx \leq K \left| \Omega \right|^{\frac{p_{s}^{*} - r}{p_{s}^{*}}} \left(\|u\|_{p_{s}^{*}}^{r} + \|v\|_{p_{s}^{*}}^{r} \right) \\ \leq K \left| \Omega \right|^{\frac{p_{s}^{*} - r}{p_{s}^{*}}} \mu_{s,p}^{\frac{-r}{p}} \left\| (u, v) \right\|_{E}^{r} = K \left| \Omega \right|^{\frac{p_{s}^{*} - r}{p_{s}^{*}}} \mu_{s,p}^{\frac{-r}{p}} Q^{\frac{r}{p}}.$$

Then, using the assumptions (3.2) and (3.4), we obtain

$$J_{\lambda}(u,v) = \frac{1}{p}Q - \frac{1}{1-\gamma}R - \lambda S$$

$$= \left(\frac{r-p}{rp}\right)Q - \left(\frac{\gamma+r-1}{r(1-\gamma)}\right)R$$

$$\geq \left(\frac{r-p}{rp}\right)Q - \left(\frac{\gamma+r-1}{r(1-\gamma)}\right)\mu_{s,p}^{\frac{\gamma-1}{p}}(\|a\|_{\infty} + \|b\|_{\infty})|\Omega|^{\frac{p_{s}^{*}+\gamma-1}{p_{s}^{*}}}Q^{\frac{1-\gamma}{p}}.$$

Finaly, since $0 < \gamma < 1$ and $r > p > 1 > 1 - \gamma$, the functional J_{λ} is coercive and bounded from below on \mathcal{N}_{λ} .

Lemma 3.3. Let $\lambda \in (0, \Gamma)$. Then, there exist two numbers denoted t_1 and t_2 such that

$$\phi'_{u,v}(t_1) = \phi'_{u,v}(t_2) = 0,$$

and

$$\phi_{u,v}''(t_1) < 0 < \phi_{u,v}''(t_1),$$

that is $(t_1u, t_1v) \in \mathcal{N}_{\lambda}^+$ and $(t_2u, t_2v) \in \mathcal{N}_{\lambda}^-$.

Proof. We define $\psi_{u,v}(t) : \mathbb{R}^+ \to \mathbb{R}$ by

$$\psi_{u,v}(t) = Qt^{p-r} - Rt^{1-\gamma-r} - \lambda rS.$$

Then, we have

$$\begin{split} \psi_{u,v}'(t) &= (r+\gamma-1)Rt^{-\gamma-r} - (r-p)Qt^{p-r-1} \\ &= (r+\gamma-1)Rt^{-\gamma-r} - (r-p)Qt^{p-r-1}, \end{split}$$

then $\psi_{u,v}^{'}(t) = 0$ if and only if $\psi_{u,v}(t)$ has a unique critical point at

(3.6)
$$t_{\max} = \left(\frac{(r+\gamma-1)R}{(r-p)Q}\right)^{\frac{1}{p+\gamma-1}}.$$

Thus

$$\lim_{t \to +\infty} \psi_{u,v}(t) = -\lambda r S \text{ and } \lim_{t \to 0^+} \psi_{u,v}(t) = -\infty.$$

Moreover, $\psi^{'}_{u,v}(t) > 0$ for all $0 < t < t_{\max}, \psi^{'}_{u,v}(t) < 0$ for all $t > t_{\max}$, and

$$\psi_{u,v}(t_{\max}) = Qt_{\max}^{p-r} - Rt_{\max}^{-\gamma-r+1} - \lambda rS$$

$$(3.7) = \left(\frac{\gamma+r-1}{r-p}\right)^{\frac{p-r}{p-1+\gamma}} \left(\frac{p+\gamma-1}{\gamma+r-1}\right) Q^{\frac{\gamma+r-1}{p+\gamma-1}} R^{\frac{p-r}{p+\gamma-1}} - \lambda rS.$$

From (3.1), (3.4) and (3.5) one sees that

t

$$\begin{split} \psi(t_{\max}) \\ \geq & \left(\frac{\gamma+r-1}{r-p}\right)^{\frac{p-r}{p+\gamma-1}} \left(\frac{p+\gamma-1}{r+\gamma-1}\right) \\ & \cdot \left(\frac{\mu_{s,p}^{-\frac{(\gamma-1)(r-p)}{p}} \left|\Omega\right|^{-\frac{(p_{s}^{*}+\gamma-1)(r-p)}{p_{s}^{*}}} Q^{r+\gamma-1}}{\left(\max(\|a\|_{\infty},\|b\|_{\infty})Q^{\frac{1-\gamma}{p}}\right)^{r-p}}\right)^{\frac{1}{p+\gamma-1}} \\ & -\lambda r K \left|\Omega\right|^{\frac{p_{s}^{*}-r}{p_{s}^{*}}} \mu_{s,p}^{\frac{-r}{p}}Q^{\frac{r}{p}} \\ & \geq & (\Gamma-\lambda) r K \mu_{s,p}^{\frac{-r}{p}} \left|\Omega\right|^{\frac{p_{s}^{*}-r}{p_{s}^{*}}} \|(u,v)\|_{E}^{r} \,. \end{split}$$

Next, for all $\lambda \in (0, \Gamma)$, we obtain

$$\psi(t_{\max}) \ge 0.$$

Consequently, there exist t_1 and t_2 such that $0 < t_1 < t_{max} < t_2$ verify

$$\psi_{u,v}(t_1) = \psi_{u,v}(t_2) = 0,$$

and

$$\psi'_{u,v}(t_1) < 0 < \psi'_{u,v}(t_2).$$

Finaly, we can conclude that $(t_1u, t_1v) \in \mathcal{N}^+_{\lambda}$ and $(t_2u, t_2v) \in \mathcal{N}^-_{\lambda}$.

Corollary 3.4. For all $\lambda \in (0, \Gamma)$, $\mathcal{N}_{\lambda}^{\pm} \neq \emptyset$ and $\mathcal{N}_{\lambda}^{0} = \{(0, 0)\}$. Moreover $\mathcal{N}_{\lambda}^{-}$ is a closed set in E-topology.

Proof. First, according to Lemma 3.3, $\mathcal{N}^{\pm}_{\lambda}$ are non-empty for $\lambda \in (0, \Gamma)$. Now, we proceed by contradiction to establish that $\mathcal{N}^{0}_{\lambda} = \{(0,0)\}$ for $\lambda \in (0, \Gamma)$. To do this, let us suppose that there exists $(0,0) \neq (u_0,v_0) \in \mathcal{N}^{0}_{\lambda}$, then we have

(3.8)
$$(p + \gamma - 1)Q_0 - \lambda r(r + \gamma - 1)S_0 = 0,$$

and

(3.9)
$$0 = Q_0 - R_0 - \lambda r S_0 = \left(\frac{r-p}{r+\gamma-1}\right) Q_0 - R_0.$$

Hence, from (3.8) and (3.9), we obtain

$$0 < \psi_{u_0,v_0}(t_{\max}) - \lambda r S_0$$

$$= \left(\frac{\gamma + r - 1}{r - p}\right)^{\frac{p - r}{p - 1 + \gamma}} \left(\frac{p - 1 + \gamma}{\gamma + r - 1}\right) \frac{(Q_0)^{\frac{\gamma + r - 1}{p + \gamma - 1}}}{(R_0)^{\frac{r - p}{p + \gamma - 1}}} - \lambda r S_0$$

$$\leq \left(\frac{r + \gamma - 1}{r - p}\right)^{\frac{p - r}{p - 1 + \gamma}} \left(\frac{p + \gamma - 1}{r + \gamma - 1}\right) \left(\frac{r + \gamma - 1}{r - p}\right)^{\frac{r - p}{p + \gamma - 1}} Q_0$$

$$- \left(\frac{p + \gamma - 1}{r + \gamma - 1}\right) Q_0$$

$$= 0,$$

for all $\lambda \in (0, \Gamma)$, which is impossible. Thus $\mathcal{N}_{\lambda}^{0} = \{(0, 0)\}$. Next, we prove that $\mathcal{N}_{\lambda}^{-}$ is closed for all $\lambda \in (0, \Gamma)$. So, we consider a sequence $\{(u_n, v_n)\} \subset \mathcal{N}_{\lambda}^{-}$ such that $(u_n, v_n) \to (u, v)$ in E as $n \to +\infty$, and prove that $(u, v) \subset \mathcal{N}_{\lambda}^{-}$. By using the definition of $\mathcal{N}_{\lambda}^{-}$, we have

$$Q_n - R_n - \lambda r S_n = 0,$$

and

$$(p-1)Q_n + \gamma R_n - \lambda r(r-1)S_n < 0.$$

Hence, we get that

$$Q - R - \lambda r S = 0,$$

and

$$(p-1)Q + \gamma R - \lambda r(r-1)S \le 0.$$

Therefore, $(u, v) \in \mathcal{N}^0_{\lambda} \cup \mathcal{N}^-_{\lambda} = \mathcal{N}^-_{\lambda}$.

Lemma 3.5. Let $(u, v) \in \mathcal{N}^+_{\lambda}$ (respectively \mathcal{N}^-_{λ}), with $u, v \ge 0$, then for any $(z,w) \in E$ with $z,w \geq 0$, there exists $\varepsilon > 0$ and a continuous function h: $B(0,\varepsilon) \to \mathbb{R}$ such that

$$h(0) = 1 \text{ and } h(s)(u + sz, v + sw) \in \mathcal{N}_{\lambda}^+ \text{ (respectively } \mathcal{N}_{\lambda}^-).$$

Proof. We give the proof only for the case $(u, v) \in \mathcal{N}^+_{\lambda}$. We define $\Psi : \mathbb{R}^+ \times$ $\mathbb{R}^+ \to \mathbb{R}$ as follows

$$\Psi(t,s) = Q\left(u + sz, v + sw\right)t^{p+\gamma-1} - \lambda r S(u + sz, v + sw)t^{r+\gamma-1} - R\left(u + sz, v + sw\right).$$

Then, we have

$$\Psi_t(t,s) = (p+\gamma-1)Q(u+sz,v+sw)t^{p+\gamma-2} -\lambda r(r+\gamma-1)S(u+sz,v+sw)t^{r+\gamma-2}.$$

 \square

and the function $\Psi_t(t,s)$ is continuous in $\mathbb{R}^+ \times \mathbb{R}^+$. Moreover, since $(u,v) \in \mathcal{N}_{\lambda}^+ \subset \mathcal{N}_{\lambda}$, we obtain

$$\Psi(1,0) = Q - R - \lambda r S = 0,$$

and

$$\Psi_t(1,0) = (p + \gamma - 1)Q - \lambda r(r-1)S > 0.$$

Thus, using the implicit function theorem at the point (1,0), we obtain that there exist $\delta > 0$ and positive continuous function $h : B(0, \varepsilon) \to \mathbb{R}$ such that

 $h(0) = 1, h(s)(u + sz, v + sw) \in \mathcal{N}_{\lambda}$, for all s in $B(0, \delta)$.

Hence, taking $\varepsilon > 0$ smaller enough, we get

$$h(s)(u+sz, v+sw) \in \mathcal{N}^+_{\lambda}$$
, for all s in $B(0, \varepsilon)$.

The proof of Lemma 3.5 is completed.

4. Existence and multiplicity results

In this section we prove the theorem of existence and multiplicity of positive nontrivial solutions to system (P_{λ}) for all $\lambda \in (0, \Gamma)$ in $\mathcal{N}_{\lambda}^{\pm}$.

4.1. Positive solutions in \mathcal{N}_{λ}^+

Since $J_{\lambda}(u, v) = J_{\lambda}(|u|, |v|)$ for all $\lambda \in (0, \Gamma)$, we can assume that all elements in \mathcal{N}_{λ} are nonnegative. Then from Lemma 3.2 and Lemma 3.3, we can find α^+, α^- such that

$$\alpha^+ = \inf_{(u,v)\in\mathcal{N}^+_{\lambda}} J_{\lambda}(u,v) \text{ and } \alpha^- = \inf_{(u,v)\in\mathcal{N}^-_{\lambda}} J_{\lambda}(u,v),$$

for all $(u, v) \in \mathcal{N}_{\lambda}^+$. Consequently since $r > p > 1 > 1 - \gamma$ and $0 < \gamma < 1$, we have

$$J_{\lambda}(u,v) = \frac{1}{p}Q - \frac{1}{1-\gamma}R - \lambda S = -\frac{(p+\gamma-1)(r-p)}{rp(1-\gamma)}Q < 0,$$

which means that

(4.1)
$$\alpha^{+} = \inf_{(u,v) \in N_{\lambda}^{+}} J_{\lambda}(u,v) < 0 \text{ for all } \lambda \in (0,\Gamma).$$

Proof of Theorem 1.1. The proof is split into two steps.

Step 1: Let us consider the minimizing sequence $\{(u_n, v_n)\} \in \mathcal{N}^+_{\lambda}$ and applying Ekeland's variational principle (see [7]), we obtain

i) $J_{\lambda}(u_n, v_n) < \alpha^+ + \frac{1}{n}$, *ii*) $J_{\lambda}(u, v) \ge J_{\lambda}(u_n, v_n) - \frac{1}{n} ||(u - u_n, v - v_n)||_E$ for all $(u, v) \in \mathcal{N}_{\lambda}^+$. As J_{λ} is coercive, then $\{(u_n, v_n)\}$ is bounded in E for $u_n, v_n \geq 0$. So there exists a subsequence denoted by $\{(u_n, v_n)\}$ and $u_0, v_0 \geq 0$ such that $(u_n, v_n) \rightarrow (u_0, v_0)$ weakly in E, strongly in $L^q(\Omega) \times L^q(\Omega), 1 < q < p_s^*$, and $u_n(x) \rightarrow u_0(x), v_n(x) \rightarrow v_0(x)$, a.e in Ω . Therefore, from (4.1) and by using the weak lower semi-continuity of the norm, we obtain

(4.2)
$$J_{\lambda}(u_0, v_0) \leq \lim_{n \to \infty} \inf_{(u,v) \in \mathcal{N}_{\lambda}^+} J_{\lambda}(u_n, v_n) = \inf_{(u,v) \in \mathcal{N}_{\lambda}^+} J_{\lambda}(u, v) < 0.$$

Claim 4.1. $u_0(x), v_0(x) > 0$ a.e. in Ω .

Proof. Firstly, for $(u_n, v_n) \in \mathcal{N}^+_{\lambda}$, we have

(4.3)
$$(p+\gamma-1)Q_n - \lambda r(r+\gamma-1)S_n > 0,$$

and it is equivalent to

(4.4)
$$(p+\gamma-1)R_n - \lambda r(r-p)S_n > 0$$

By Vitali's convergence Theorem, we have

(4.5)
$$\lim_{n \to \infty} S_n = \lim_{n \to \infty} \int_{\Omega} H(x, u_n, v_n) dx = \int_{\Omega} H(x, u_0, v_0) dx = S_0.$$

next, using Hölder's inequality, we obtain, as $n \to \infty$

$$\int_{\Omega} a(x) u_n^{1-\gamma} dx$$

$$\leq \int_{\Omega} a(x) u_0^{1-\gamma} dx + \|a\|_{\infty} \int_{\Omega} |u_n - u_0|^{1-\gamma} dx$$

$$\leq \int_{\Omega} a(x) u_0^{1-\gamma} dx + |\Omega|^{\frac{p+\gamma-1}{p}} \|a\|_{\infty} \|u_n - u_0\|_{L^p(\Omega)}^{1-\gamma}$$

$$= \int_{\Omega} a(x) u_0^{1-\gamma} dx + o(1),$$

and

$$\int_{\Omega} a(x) u_0^{1-\gamma} dx$$

$$\leq \int_{\Omega} a(x) u_n^{1-\gamma} dx + ||a||_{\infty} \int_{\Omega} |u_n - u_0|^{1-\gamma} dx$$

$$\leq \int_{\Omega} a(x) u_n^{1-\gamma} dx + |\Omega|^{\frac{p+\gamma-1}{p}} ||a||_{\infty} ||u_n - u_0||_{L^p(\Omega)}^{1-\gamma}$$

$$= \int_{\Omega} a(x) u_n^{1-\gamma} dx + o(1).$$

Thus

$$\int_{\Omega} a(x) u_n^{1-\gamma} dx = \int_{\Omega} a(x) u_0^{1-\gamma} dx + o(1).$$

Similarly, we have

$$\int_{\Omega} b(x) v_n^{1-\gamma} dx = \int_{\Omega} b(x) v_0^{1-\gamma} dx + o(1),$$

and

(4.6)
$$R_n = R_0 + o(1).$$

Moreover, from the Brézis-Lieb Lemma [9], we obtain

$$\|(u_n, v_n)\|_E^p = \|(u_0, v_0)\|_E^p + \|u_n - u_0\|_{X_0}^p + \|v_n - v_0\|_{X_0}^p + o(1),$$

and

(4.7)
$$Q_n = Q_0 + o(1).$$

Therefore, it follows from (4.5) and (4.6) that

$$\lim_{n \to \infty} \left[(p + \gamma - 1)Q_n - \lambda r(r + \gamma - 1)S_n \right]$$

=
$$\lim_{n \to \infty} \left[(p + \gamma - 1)R_n - \lambda (r - p)S_n \right]$$

=
$$(p - 1 + \gamma)R_0 - \lambda r(r - p)S_0 \ge 0.$$

Let

(4.8)
$$(p+\gamma-1)R_0 - \lambda r(r-p)S_0 = 0.$$

Hence, by (4.5)-(4.8), and using the weakly lower semi continuity of the norm, we obtain

$$0 \ge Q_0 - R_0 - \lambda r S_0 = Q_0 - \lambda r \left(\frac{r+\gamma-1}{p+\gamma-1}\right) S_0.$$

From (4.3), one has a contradiction, and

(4.9)
$$(p+\gamma-1)R_0 - \lambda r(r-p)S_0 > 0.$$

Furthermore, let us consider the functions $0 < z, w \in E$. From Lemma 3.5 , there exits a sequence of continuous functions $(g_n)_{n \in \mathbb{N}}$ such that

$$g_n\left(s\right)\left(u_n + sz, v_n + sw\right) \in \mathcal{N}_{\lambda}^+, g_n\left(0\right) = 1,$$

and

$$Q\left(g_n\left(s\right)\left(u_n+sz,v_n+sw\right)\right) - R\left(g_n\left(s\right)\left(u_n+sz,v_n+sw\right)\right) \\ -\lambda rS\left(g_n\left(s\right)\left(u_n+sz,v_n+sw\right)\right) = 0.$$

Since

$$(4.10) Q_n - R_n - \lambda r S_n = 0,$$

then, for s small enough, it follows that

$$\begin{array}{ll} 0 & = \left(g_n^p\left(s\right) - 1\right)Q\left(u_n + sz, v_n + sw\right) + \left(Q\left(u_n + sz, v_n + sw\right) - Q_n\right) \\ & - \left(g_n^{1-\gamma}\left(s\right) - 1\right)R\left(u_n + sz, v_n + sw\right) - \left(R\left(u_n + sz, v_n + sw\right) - R_n\right) \\ & -\lambda r\left(g_n^r\left(s\right) - 1\right)S\left(u_n + sz, v_n + sw\right) - \lambda r\left(S\left(u_n + sz, v_n + sw\right) - S_n\right) \\ & \leq & \left(g_n^p\left(s\right) - 1\right)Q\left(u_n + sz, v_n + sw\right) + \left(Q\left(u_n + sz, v_n + sw\right) - Q_n\right) \\ & - \left(g_n^{1-\gamma}\left(s\right) - 1\right)R\left(u_n + sz, v_n + sw\right) \\ & -\lambda r\left(g_n^r\left(s\right) - 1\right)S\left(u_n + sz, v_n + sw\right) - \lambda r\left(S\left(u_n + sz, v_n + sw\right) - S_n\right). \end{array}$$

Next by s > 0 and passing to the limit as $s \to 0$, we get

$$\begin{array}{ll} 0 & \leq & g_n'\left(0\right)\left(pQ_n - (1-\gamma)\,R_n - \lambda r^2 S_n\right) + p\left(T(u_n,z) + T(v_n,w)\right) \\ & & -\lambda r \int_{\Omega} \left(zf(x,u_n,v_n) + wg(x,u_n,v_n)\right) dx \\ & \leq & g_n'\left(0\right)\left((p-r)\,Q_n + (r+\gamma-1)\,R_n\right) + p\left(T(u_n,z) + T(v_n,w)\right). \end{array}$$

Then, by (4.3) and (4.10) we obtain

(4.11)
$$g'_{n}(0) \geq -\frac{p\left(T(u_{n},z)+T(v_{n},w)\right)}{\left(p-r\right)Q_{n}+\left(r+\gamma-1\right)R_{n}},$$

where $g'_n(0) \in [-\infty, +\infty]$ denotes the right derivative of $g_n(s)$ at zero, and since $(u_n, v_n) \in \mathcal{N}^+_{\lambda}, g'_n(0) \neq -\infty$.

For simplicity, we assume that the right derivative of g_n at s = 0 exists.

Moreover, from (4.11) we obtain that $g'_n(0)$ is uniformly bounded from below. Now, using condition (ii), we obtain

$$\begin{split} &|g_n\left(s\right) - 1| \, \frac{\|(u_n, v_n)\|}{n} + sg_n\left(s\right) \frac{\|(z, w)\|}{n} \\ &\geq \quad J_\lambda\left(u_n, v_n\right) - J_\lambda\left(g_n\left(s\right)\left(u_n + sz, v_n + sw\right)\right) \\ &= -\frac{p + \gamma - 1}{p\left(1 - \gamma\right)}Q_n + \lambda\left(\frac{r + \gamma - 1}{1 - \gamma}\right)S_n \\ &+ \frac{p + \gamma - 1}{p\left(1 - \gamma\right)}g_n^p\left(s\right)Q\left(u_n + sz, v_n + sw\right) \\ &- \lambda\left(\frac{r + \gamma - 1}{1 - \gamma}\right)g_n^r\left(s\right)S\left(u_n + sz, v_n + sw\right) \\ &= \frac{p + \gamma - 1}{p\left(1 - \gamma\right)}\left(Q\left(u_n + sz, v_n + sw\right) - Q_n\right) \\ &+ \frac{p + \gamma - 1}{p\left(1 - \gamma\right)}\left(g_n^p\left(s\right) - 1\right)Q\left(u_n + sz, v_n + sw\right) \\ &- \lambda\frac{r + \gamma - 1}{1 - \gamma}\left(S\left(u_n + sz, v_n + sw\right) - S_n\right) \\ &- \lambda\frac{r + \gamma - 1}{1 - \gamma}\left(g_n^r\left(s\right) - 1\right)S\left(u_n + sz, v_n + sw\right) \end{split}$$

Then, dividing again by s > 0 and passing to the limit as $s \to 0$, we obtain

$$\frac{1}{n} \left(\left| g'_{n} \left(0 \right) \right| \left\| (u_{n}, v_{n}) \right\| + \left\| (z, w) \right\| \right) \\
\geq \frac{g'_{n} \left(0 \right)}{1 - \gamma} \left((p - r) Q_{n} + (r + \gamma - 1) R_{n} \right) \\
+ \frac{p \left(p + \gamma - 1 \right)}{1 - \gamma} \left(T(u_{n}, z) + T(v_{n}, w) \right) \\
- \lambda \left(\frac{r + \gamma - 1}{1 - \gamma} \right) \int_{\Omega} \left(zf(x, u_{n}, v_{n}) + wg(x, u_{n}, v_{n}) \right) dx,$$

which implies that

$$|g'_{n}(0)| \left(-\frac{\|(u_{n}, v_{n})\|}{n} - ((r-p)Q_{n} - (r+\gamma-1)R_{n})\right)$$

$$\leq \frac{1}{n} \|(z, w)\| - \frac{p(p+\gamma-1)}{1-\gamma} (T(u_{n}, z) + T(v_{n}, w))$$

$$+\lambda \left(\frac{r+\gamma-1}{1-\gamma}\right) \int_{\Omega} (f(x, u_{n}, v_{n})z + g(x, u_{n}, v_{n})w) dx.$$

Hence, there exists a positive constant L such that

$$-\frac{\|(u_n, v_n)\|}{n} - ((p-r)Q_n + (r+\gamma - 1)R_n) \ge L > 0,$$

then

$$(4.12) |g'_n(0)| \\ \leq L^{-1} \left(\frac{1}{n} \| (z, w) \| + \frac{p (p + \gamma - 1)}{1 - \gamma} (T(u_n, z) + T(v_n, w)) \right. \\ \left. + \lambda \left(\frac{r + \gamma - 1}{1 - \gamma} \right) \int_{\Omega} \left(f(x, u_n, v_n) z + g(x, u_n, v_n) w \right) dx \right),$$

Thus, according to (4.12), $g'_{n}(0)$ is uniformly bounded from above. Consequently,

(4.13) $g'_{n}(0)$ is uniformly bounded for n large enough.

Moreover, from condition (*ii*), it follows that for t > 0 small enough, one

has

$$\begin{aligned} &\frac{1}{n} \left(|g_n(s) - 1| \, \|(u_n, v_n)\| + sg_n(s) \, \|(z, w)\| \right) \\ &\geq \quad \frac{1}{n} \left(\|g_n(s) \, (u_n + sz, v_n + sw) - (u_n, v_n)\| \right) \\ &\geq \quad J_\lambda(u_n, v_n) - J_\lambda(g_n(s) \, (u_n + sz, v_n + sw)) \\ &= -\frac{g_n^p(s) - 1}{p} Q_n + \frac{g_n^{1-\gamma}(s) - 1}{1 - \gamma} R_n + \lambda(g_n^r(s) - 1) \, S_n \\ &+ \frac{g_n^p(s)}{p} \left(Q_n - Q \, (u_n + sz, v_n + sw) \right) \\ &+ \frac{g_n^{1-\gamma}(s)}{1 - \gamma} \left(R \, (u_n + sz, v_n + sw) - R_n \right) \\ &+ \lambda g_n^r(s) \left(S \, (u_n + sz, v_n + sw) - S_n \right). \end{aligned}$$

Dividing by s > 0 and passing to the limit as $s \to 0$, we obtain

(4.14)

$$\frac{1}{n} (|g'_{n}(0)| ||(u_{n}, v_{n})|| + ||(z, w)||) \\
\geq -g'_{n}(0) (Q_{n} - R_{n} - \lambda rS_{n}) - (T(u_{n}, z) + T(v_{n}, w)) \\
+\lambda \int_{\Omega} (f(x, u_{n}, v_{n})z + g(x, u_{n}, v_{n})w) dx \\
+ \frac{1}{1 - \gamma} \lim_{s \to 0^{+}} \inf \left(\frac{R(u_{n} + sz, v_{n} + sw) - R_{n}}{s}\right).$$

From (4.13), we deduce that

$$(4.15) \qquad \begin{aligned} \frac{1}{1-\gamma} \lim_{s \to 0^+} \inf\left(\frac{R\left(u_n + sz, v_n + sw\right) - R_n}{s}\right) \\ &\leq T(u_n, z) + T(v_n, w) - \lambda \int_{\Omega} \left(f(x, u_n, v_n)z + g(x, u_n, v_n)w\right) dx \\ &+ \frac{|g'_n\left(0\right)| \left\|(u_n, v_n)\right\| + \left\|(z, w)\right\|}{n}, \end{aligned}$$

where we have used the fact that

$$R(u_n + sz, v_n + sw) - R_n \ge 0$$
 for all $t > 0$ and all $x \in \Omega$.

Using Fatou's Lemma, we get

$$\int_{\Omega} \left(a\left(x\right) u_{n}^{-\gamma} z + b\left(x\right) v_{n}^{-\gamma} w \right) dx$$

$$\leq \frac{1}{1 - \gamma} \lim_{s \to 0^{+}} \inf \left(\frac{R\left(u_{n} + sz, v_{n} + sw\right) - R_{n}}{s} \right).$$

Then, from (4.15) it follows for n large enough

$$\int_{\Omega} \left(a(x) u_n^{-\gamma} z + b(x) v_n^{-\gamma} w \right) dx$$

$$\leq T(u_n, z) + T(v_n, w) - \lambda \int_{\Omega} \left(f(x, u_n, v_n) z + g(x, u_n, v_n) w \right) dx$$

$$+ \frac{|g'_n(0)| \|(u_n, v_n)\| + \|(z, w)\|}{n},$$

By (4.14) and Fatou's Lemma again, we conclude that

(4.16)

$$T(u_{0}, z) + T(v_{0}, w)$$

$$\geq \int_{\Omega} \left(a(x) u_{0}^{-\gamma} z + b(x) v_{0}^{-\gamma} w \right) dx$$

$$+ \lambda \int_{\Omega} \left(f(x, u_{0}, v_{0}) z + g(x, u_{0}, v_{0}) w \right) dx,$$

for all $(z, w) \in X$, with $z, w \ge 0$. Then, the maximum principle theorem implies that $u_0(x), v_0(x) > 0$ a.e. in Ω .

Now, we prove that $(u_0, v_0) \in \mathcal{N}^+_{\lambda}$ for all $\lambda \in (0, \Gamma)$. Choosing $(z, w) = (u_0, v_0)$ in (4.16), we obtain

$$Q_0 - R_0 - \lambda r S_0 \ge 0.$$

On the other hand, from the weakly lower semi continuity of the norm, we get

$$Q_0 - R_0 - \lambda r S_0 \le 0,$$

and

(4.17)
$$Q_0 - R_0 - \lambda r S_0 = 0,$$

this implies that $(u_0, v_0) \in \mathcal{N}_{\lambda}$.

Hence, combining (4.9) and (4.17), we have $(u_0, v_0) \in \mathcal{N}^+_{\lambda}$.

Next, we show that (u_0, v_0) is a positive solution of system (P_{λ}) for all $\lambda \in (0, \Gamma)$. Let $(z, w) \in X$ and $\varepsilon > 0$. We define $(\omega_1, \omega_2) \in X$ with $(\omega_1, \omega_2) = (u_0 + \varepsilon z, v_0 + \varepsilon w), \omega_1^+ = \max \{\omega_1, 0\}$ and $\omega_2^+ = \max \{\omega_2, 0\}$. Let

$$\begin{aligned} \Omega_{\varepsilon}^{+} &= \left\{ (u_{0} + \varepsilon z, v_{0} + \varepsilon w) : u_{0} + \varepsilon z > 0 \text{ and } v_{0} + \varepsilon w > 0 \right\}, \\ \Omega_{\varepsilon}^{-} &= \left\{ (u_{0} + \varepsilon z, v_{0} + \varepsilon w) : u_{0} + \varepsilon z \le 0 \text{ and } v_{0} + \varepsilon w \le 0 \right\}, \end{aligned}$$

and

$$\begin{split} T(u_{0}, \omega_{1}^{+}) &= \int_{Q} \frac{|u_{0}(x) - u_{0}(y)|^{p-2} (u_{0}(x) - u_{0}(y))(\omega_{1}^{+}(x) - \omega_{1}^{+}(y))}{|x - y|^{N + ps}} dx dy \\ &= \int_{Q} \frac{|u_{0}(x) - u_{0}(y)|^{p-2} (u_{0}(x) - u_{0}(y))((u_{0} + \varepsilon z) (x) - (u_{0} + \varepsilon z) (y))}{|x - y|^{N + ps}} dx dy \\ &- \int_{\Omega_{\varepsilon}^{-} \times \Omega_{\varepsilon}^{-}} \frac{|u_{0}(x) - u_{0}(y)|^{p-2} (u_{0}(x) - u_{0}(y))((u_{0} + \varepsilon z) (x) - (u_{0} + \varepsilon z) (y))}{|x - y|^{N + ps}} dx dy \\ &= T(u_{0}, u_{0}) + \varepsilon T(u_{0}, z) \\ &- \int_{\Omega_{\varepsilon}^{-} \times \Omega_{\varepsilon}^{-}} \frac{|u_{0}(x) - u_{0}(y)|^{p-2} (u_{0}(x) - u_{0}(y))((u_{0} + \varepsilon z) (x) - (u_{0} + \varepsilon z) (y))}{|x - y|^{N + ps}} dx dy. \end{split}$$

By Claim 4.1, the measure of the domain of integration $\Omega_{\varepsilon}^- \times \Omega_{\varepsilon}^-$ tends to 0 as $\varepsilon \to 0^+$ that

$$\int_{\Omega_{\varepsilon}^{-} \times \Omega_{\varepsilon}^{-}} \frac{|u_{0}(x) - u_{0}(y)|^{p-2} (u_{0}(x) - u_{0}(y))((u_{0} + \varepsilon z) (x) - (u_{0} + \varepsilon z) (y))}{|x - y|^{N+ps}} dx dy \xrightarrow[\varepsilon \to 0^{+}]{0}$$

then

(4.18)
$$T(u_0, \omega_1^+) \xrightarrow[\varepsilon \to 0^+]{} T(u_0, u_0).$$

Similarly, we can obtain

(4.19)
$$T(v_0, \omega_2^+) \underset{\varepsilon \to 0^+}{\to} T(v_0, v_0).$$

On the other hand, we have

$$\begin{aligned} \int_{\Omega} a(x) u_0^{-\gamma} \omega_1^+ dx \\ &= \int_{\Omega_{\varepsilon}^+} a(x) u_0^{-\gamma} \omega_1 dx \\ &= \int_{\Omega} a(x) u_0^{-\gamma} (u_0 + \varepsilon z) dx - \int_{\Omega_{\varepsilon}^-} a(x) u_0^{-\gamma} (u_0 + \varepsilon z) dx \\ &= \int_{\Omega} a(x) u_0^{1-\gamma} dx + \varepsilon \int_{\Omega} a(x) u_0^{-\gamma} z dx - \int_{\Omega_{\varepsilon}^-} a(x) u_0^{-\gamma} (u_0 + \varepsilon z) dx \end{aligned}$$

$$(4.20) \geq \int_{\Omega} a(x) u_0^{1-\gamma} dx + \varepsilon \int_{\Omega} a(x) u_0^{-\gamma} z dx,$$

and

(4.21)
$$\int_{\Omega} b(x) v_0^{-\gamma} \omega_2^+ dx \ge \int_{\Omega} b(x) u_0^{1-\gamma} dx + \varepsilon \int_{\Omega} b(x) v_0^{-\gamma} z dx.$$

Now, we can write

$$(4.22) \qquad \int_{\Omega} f(x, u_0, v_0) \omega_1^+ dx \\ = \int_{\Omega_{\varepsilon}^+} f(x, u_0, v_0) \omega_1 dx \\ = \int_{\Omega} f(x, u_0, v_0) (u_0 + \varepsilon z) dx - \int_{\Omega_{\varepsilon}^-} f(x, u_0, v_0) (u_0 + \varepsilon z) dx \\ = \int_{\Omega} f(x, u_0, v_0) u_0 dx + \varepsilon \int_{\Omega} f(x, u_0, v_0) z dx \\ - \int_{\Omega_{\varepsilon}^-} f(x, u_0, v_0) (u_0 + \varepsilon z) dx \\ \leq \int_{\Omega} f(x, u_0, v_0) u_0 dx + \varepsilon \int_{\Omega} f(x, u_0, v_0) z dx, \end{cases}$$

and

(4.23)
$$\int_{\Omega} g(x, u_0, v_0) \omega_2^+ dx \ge \int_{\Omega} g(x, u_0, v_0) v_0 dx + \varepsilon \int_{\Omega} g(x, u_0, v_0) z dx,$$

Combining (4.18)-(4.23), we arrive at

$$\begin{array}{lcl} 0 &\leq & T(u_{0},\omega_{1}^{+})+T(v_{0},\omega_{2}^{+})-\int_{\Omega}\left(a\left(x\right)u_{0}^{-\gamma}\omega_{1}^{+}+b\left(x\right)v_{0}^{-\gamma}\omega_{2}^{+}\right)dx\\ &\quad -\lambda\int_{\Omega}\left(f(x,u_{0},v_{0})\omega_{1}^{+}+g(x,u_{0},v_{0})\omega_{2}^{+}\right)dx\\ &\leq & T(u_{0},u_{0})+T(v_{0},v_{0})-\int_{\Omega}\left(a\left(x\right)u_{0}^{1-\gamma}+b\left(x\right)u_{0}^{1-\gamma}\right)dx\\ &\quad -\left(\int_{\Omega}f(x,u_{0},v_{0})u_{0}+\int_{\Omega}g(x,u_{0},v_{0})v_{0}\right)dx\\ &\quad +\varepsilon\left(T(u_{0},z)+T(u_{0},z)-\int_{\Omega}\left(a\left(x\right)u_{0}^{-\gamma}z+b\left(x\right)v_{0}^{-\gamma}w\right)dx\\ &\quad -\int_{\Omega}\left(f(x,u_{0},v_{0})z+g(x,u_{0},v_{0})w\right)dx\right)\\ &=\varepsilon\left(T(u_{0},z)+T(u_{0},z)-\int_{\Omega}\left(a\left(x\right)u_{0}^{-\gamma}z+b\left(x\right)v_{0}^{-\gamma}w\right)dx\\ &\quad -\int_{\Omega}\left(f(x,u_{0},v_{0})z+g(x,u_{0},v_{0})w\right)dx\right).\end{array}$$

Then

$$T(u_0, z) + T(u_0, z) - \int_{\Omega} \left(a(x) u_0^{-\gamma} z + b(x) v_0^{-\gamma} w \right) dx$$
$$- \int_{\Omega} \left(f(x, u_0, v_0) z + g(x, u_0, v_0) w \right) dx \ge 0.$$

Since the equality holds if we replace (z, w) by (-z, -w), then (u_0, u_0) is a positive week solution of the problem (P_{λ}) .

4.2. Positive solutions in $\mathcal{N}_{\lambda}^{-}$

Similarly to the arguments in \mathcal{N}_{λ}^+ , applying Ekeland's variational principle to the minimization problem $\alpha^- = \inf_{(u,v) \in \mathcal{N}_{\lambda}^-} J_{\lambda}(u,v)$.

Then, there exists a minimizing sequence $\{(u_n, v_n)\} \subset \mathcal{N}_{\lambda}^{-}$ such that

i)
$$J_{\lambda}(u_n, v_n) < \alpha^- + \frac{1}{n},$$

ii) $J_{\lambda}(u, v) \ge J_{\lambda}(u_n, v_n) - \frac{1}{n} ||(u - u_n, v - v_n)||_E$ for all $(u, v) \in \mathcal{N}_{\lambda}^+.$

Firstly, let $u_n, v_n \geq 0$. Clearly, $\{(u_n, v_n)\}$ is a bounded sequence in E. So, there exist subsequences denoted by $\{(u_n, v_n)\}$ and $\tilde{u}_0, \tilde{v}_0 \geq 0$ such that $(u_n, v_n) \rightarrow (\tilde{u}_0, \tilde{v}_0)$ weakly in E, strongly in $L^{1-\gamma}(\Omega)$ and $(u_n(x), v_n(x)) \rightarrow (\tilde{u}_0(x), \tilde{v}_0(x))$ in a.e Ω , as $n \to \infty$. Moreover, using the weak lower semi continuity of norm, we obtain that

(4.24)
$$J_{\lambda}(\tilde{u}_0, \tilde{v}_0) \leq \lim_{n \to \infty} \inf_{(u,v) \in \mathcal{N}_{\lambda}^-} J_{\lambda}(u_n, v_n) < 0,$$

 $(\tilde{u}_0, \tilde{v}_0) \neq (0, 0)$ in a.e Ω .

Now, we prove that $\tilde{u}_0, \tilde{v}_0 > 0$ in a.e Ω . Similarly to the argument, for $(u_n, v_n) \in \mathcal{N}_{\lambda}^-$, one has

$$(4.25) \qquad (p+\gamma-1)Q_n - \lambda r(r+\gamma-1)S_n < 0,$$

equivalent to

$$(4.26) (p+\gamma-1)R_n - \lambda r(r-p)S_n < 0.$$

Next, from (4.25) and (4.26), we obtain that

$$\lim_{n \to \infty} \left[(p + \gamma - 1)Q_n - \lambda r(r + \gamma - 1)S_n \right]$$

=
$$\lim_{n \to \infty} \left[(p + \gamma - 1)R_n - \lambda (r - p)S_n \right]$$

=
$$(p - 1 + \gamma)R_0 - \lambda r(r - p)S_0 \le 0.$$

Moreover, repeating the same argument as in Claim 4.1, we obtain, for all $\lambda \in (0, \Gamma)$

(4.27)
$$(p+\gamma-1)R_0 - \lambda r(r-p)S_0 < 0.$$

Let us consider the functions $0 < z, w \in E$. Then there exits a sequence of continuous functions $(g_n)_{n \in \mathbb{N}}$ such that $g_n(s)(u_n + sz, v_n + sw) \in \mathcal{N}_{\lambda}^-$ and $g_n(0) = 1$.

Therefore, repeating the same arguments as in Claim 4.1, we have $g'_n(0)$ is uniformly bounded for n large enough.

We conclude that $\tilde{u}_0(x), \tilde{v}_0(x) > 0$ a.e. in Ω and

$$(4.28) \ T(\tilde{u}_0, z) + T(\tilde{v}_0, w) \leq -\int_{\Omega} \left(a(x) \, \tilde{u}_0^{-\gamma} z + b(x) \, \tilde{v}_0^{-\gamma} w \right) dx -\lambda \int_{\Omega} \left(f(x, \tilde{u}_0, \tilde{v}_0) z + g(x, \tilde{u}_0, \tilde{v}_0) w \right) dx$$

for all $(z, w) \in E$. Finally, we obtain that $(\tilde{u}_0, \tilde{v}_0)$ is positive nontrivial solution of system (P_{λ}) . The proof of Theorem 1.1 is completed.

References

- ABDELJABBAR, G. Multiplicity of nontrivial solutions of a class of fractional p-Laplacian problem. Z. Anal. Anwend. 34, 3 (2015), 309–319.
- [2] ADIMURTHI, AND GIACOMONI, J. Multiplicity of positive solutions for a singular and critical elliptic problem in R². Commun. Contemp. Math. 8, 5 (2006), 621– 656.
- [3] ALSAEDI, R., DHIFLI, A., AND GHANMI, A. Low perturbations of p-biharmonic equations with competing nonlinearities. *Complex Variables and Elliptic Equations* 0, 0 (2020), 1–16.
- [4] ALVES, C. O., AND EL HAMIDI, A. Nehari manifold and existence of positive solutions to a class of quasilinear problems. *Nonlinear Anal.* 60, 4 (2005), 611– 624.
- [5] APPLEBAUM, D. Lévy processes—from probability to finance and quantum groups. Notices Amer. Math. Soc. 51, 11 (2004), 1336–1347.
- [6] APPLEBAUM, D. Lévy processes and stochastic calculus, second ed., vol. 116 of Cambridge Studies in Advanced Mathematics. Cambridge University Press, Cambridge, 2009.
- [7] AUBIN, J.-P., AND EKELAND, I. Applied nonlinear analysis. Pure and Applied Mathematics (New York). John Wiley & Sons, Inc., New York, 1984. A Wiley-Interscience Publication.
- [8] BARRIOS, B., COLORADO, E., DE PABLO, A., AND SÁNCHEZ, U. On some critical problems for the fractional Laplacian operator. J. Differential Equations 252, 11 (2012), 6133–6162.
- [9] BRÉZIS, H., AND LIEB, E. A relation between pointwise convergence of functions and convergence of functionals. *Proc. Amer. Math. Soc.* 88, 3 (1983), 486–490.
- [10] BROWN, K. J., AND ZHANG, Y. The Nehari manifold for a semilinear elliptic equation with a sign-changing weight function. J. Differential Equations 193, 2 (2003), 481–499.
- [11] CAFFARELLI, L., AND SILVESTRE, L. An extension problem related to the fractional Laplacian. Comm. Partial Differential Equations 32, 7-9 (2007), 1245– 1260.
- [12] CHEN, H., HAJAIEJ, H., AND WANG, Y. On a class of semilinear fractional elliptic equations involving outside Dirac data. *Nonlinear Anal.* 125 (2015), 639–658.
- [13] COCLITE, M. M., AND PALMIERI, G. On a singular nonlinear Dirichlet problem. Comm. Partial Differential Equations 14, 10 (1989), 1315–1327.
- [14] CONT, R., AND TANKOV, P. Financial modelling with jump processes. Chapman & Hall/CRC Financial Mathematics Series. Chapman & Hall/CRC, Boca Raton, FL, 2004.
- [15] CRANDALL, M. G., RABINOWITZ, P. H., AND TARTAR, L. On a Dirichlet problem with a singular nonlinearity. *Comm. Partial Differential Equations 2*, 2 (1977), 193–222.
- [16] DI NEZZA, E., PALATUCCI, G., AND VALDINOCI, E. Hitchhiker's guide to the fractional Sobolev spaces. Bull. Sci. Math. 136, 5 (2012), 521–573.

- [17] DÍAZ, J. I., HERNÁNDEZ, J., AND MANCEBO, F. J. Branches of positive and free boundary solutions for some singular quasilinear elliptic problems. J. Math. Anal. Appl. 352, 1 (2009), 449–474.
- [18] DRÁBEK, P., AND POHOZAEV, S. I. Positive solutions for the *p*-Laplacian: application of the fibering method. *Proc. Roy. Soc. Edinburgh Sect. A 127*, 4 (1997), 703–726.
- [19] GARRONI, A., AND MÜLLER, S. Γ-limit of a phase-field model of dislocations. SIAM J. Math. Anal. 36, 6 (2005), 1943–1964.
- [20] GHANMI, A., AND SAOUDI, K. A multiplicity results for a singular problem involving the fractional *p*-Laplacian operator. *Complex Var. Elliptic Equ.* 61, 9 (2016), 1199–1216.
- [21] GHANMI, A., AND SAOUDI, K. The Nehari manifold for a singular elliptic equation involving the fractional Laplace operator. *Fract. Differ. Calc.* 6, 2 (2016), 201–217.
- [22] MOHAMMED, A. Positive solutions of the *p*-Laplace equation with singular nonlinearity. J. Math. Anal. Appl. 352, 1 (2009), 234–245.
- [23] SAOUDI, K. Existence and non-existence of solutions for a singular problem with variable potentials. *Electron. J. Differential Equations* (2017), Paper No. 291, 9.
- [24] SAOUDI, K., AND KRATOU, M. Existence of multiple solutions for a singular and quasilinear equation. *Complex Var. Elliptic Equ. 60*, 7 (2015), 893–925.
- [25] SERVADEI, R., AND VALDINOCI, E. Mountain pass solutions for non-local elliptic operators. J. Math. Anal. Appl. 389, 2 (2012), 887–898.
- [26] SERVADEI, R., AND VALDINOCI, E. Variational methods for non-local operators of elliptic type. *Discrete Contin. Dyn. Syst.* 33, 5 (2013), 2105–2137.
- [27] TAN, J. The Brezis-Nirenberg type problem involving the square root of the Laplacian. Calc. Var. Partial Differential Equations 42, 1-2 (2011), 21–41.

Received by the editors May 22, 2020 First published online July 8, 2020